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Section 1 - Subject01-General Knowledge

1) Which Payments Bank is the first to start service in
India?

A) Paytm Payments Bank

B) India Post Payments Bank

C) Airtel Payments Bank
)

D) ICICI Bank

2) Read the following statements and choose the
CORRECT after Indian Railway Budget - General Budget
merger.

1) The huge revenue deficit of Railways was transferred

from Railways to the Union Ministry of Finance.

2) Railways continued to operate as a commercial
undertaking under a government department and retained

functional autonomy.

3) Railways continued to pay the Finance Ministry dividend

on Capital at Charge of Railways

4) Railways continued to raise resources from the market
through the process of Extra Budgetary Resources for

project finance

A) 1) True, 2) False, 3) True, 4) True

) 1)
B) 1) True, 2) True, 3) False, 4) True
C) 1) False, 2) False, 3) False, 4) True
) 1)

D) 1) False, 2) False, 3) True, 4) True

1) ATea ® o e S F Ige T a1 SO HaT 9% H1?
A) TETTH THE S

B) 3fEaT iz iz &%

C) TALEH THE 9

D) ICICI §=

2) AT I 92 - W awie f&FerT ¥ are, Faffea o ad
T et forsew F1 A1 F:

DRSEER MRS I REE R EHRAERREICR T

FEATA ¥ T 97 o

2) ¥ 7 T ALRTT (AT % S U aTiore s SUHT F T
T =TT FAT AT T@T S FTATCHF TATITAT 1 G470 7@

3) ¥od F AT HATAT T T & ATSN I IS ATHTLT AT AT
7@

4) T = aiearsrr i  fore sifafes st daremt £
TERAT 3 STRT ST | HETEET T ITET AT AT 7@

A) 1) &, 2) T, 3) Tal, 4) Tar

C) 1) T&1d, 2) oI, 3) e, 4) Tat

) 1)
B) 1) 7T, 2) &, 3) TAq, 4) Wl
) 1)
D) 1)

1) ITTd, 2) T, 3) TEl, 4) TEr
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3) Which of the following oceans surround Baffin Island?

A) Pacific

B) Indian

C) North Atlantic

)
)
)
D) Arctic

4) Paithani sarees originated in which Indian state?

A) Jammu and Kashmir

)
B) Kerala
C) Assam
)

D) Maharashtra

5) Under Section 66D of the Information Technology Act
2000, what is the penalty for "Cheating by impersonation
using computer resource” (that is, cheating by pretending
to be some other person or by substituting one person for
another) offence?

A) Imprisonment up to three years or/and fine up to
% 300,000

B) Imprisonment up to three years or/and with fine up to
¥ 500,000

C) Imprisonment up to one year or/and fine up to
% 100,000

D) Imprisonment up to three years or/and fine up to
% 100,000

3) a1 4 3 S e Pt § & #9 A7 Aerne 22

5) =T ST sfarfeare 2000 #4127 66D ¥ S,
FEY AR T TETHTA Fh (R T ST T TgT (TFIHAIT
AT IS ST ATH TR AL ATHIT I &T@T IAT) G FT
STETETST T o JIL & [T FATES § ?

A) T |7 & 7 7/30% T 300,000 TFH FHT AT
B) = &1 it @ AT/HT AT &f T 500,000 TF T AT
C) U 9T %l &2 FT/3¥ T 100,000 TF FHT AT
D) == &1 it &e A1/37 T 100,000 TF T AT
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6) Which of the following bodies of United Nations 6) TTH | T TP =l e TG T 1948 | A araartes

proclaimed the Universal Declaration of Human Rights in T =roorm &t ?

19487
A) TETT FfEe
A) Trusteeship Council B) STILeT Sferveet |
B) General Assembly C) TETALUT H1E A SAfeq
C) International Court of Justice D) qTAT T
D) Security Council

7) What is the latest trend that organizations are adapting?  7) EWa1 1T ohe THAH T &l STAATIT ST @18 ?

A) Block all social media sites A) et #rorer HTTRT T ST FEAT AT I T TfAAEl

B) Engage employees for a bigger social media reach B) FHATHAT HT o2 ¥q< 0¥ wrerer T 7 Tg= FE AT FTHT|
C) Allow twitter but disallow Facebook C) T Fit S AFF FogF T %

D) Avoiding social media as it lowers employee D) ®rerel H=AT 9% T FA11h THE FHATRAT 6T IATaHhAT

productivity FH BT 21

8) What is the goal of MAKANI project of Google X - an 8) T X - AT FIT AT U 91 UF e &g, &

R&D facility founded by Google? MAKAN| TSt &7 q&7 97 872

A) To create kites that hamess wind energy to generate A) UHT AT T A0 FTAT ST TAT 511 7 ITART FTF ZoAT
- . , H TAATLAH St 9aT L
electricity efficiently from wind

B) T A A STeradl S aidd [STaeht d&7 g a&g3i T6
TEd I AT, &l § ATATATT HEAAT Tl HH FHLAT ST
CO2 & IS § AT FLAT

C) TeH-ZTZTET 12 & AT Tiaefierdr i ®Hiafed FTar

D) TR g FT Aeg | ZAC At tadt FT ST
D) Expanding coverage of Internet connectivity with REL

stratospheric balloons

B) An autonomous delivery drone service aiming to

increase access to goods, reduce traffic congestion in
cities, and help ease the CO2emissions

C) Transforming mobility with self-driving cars
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9) Who among the following US Presidents have received
the Indira Gandhi Peace Prize since its inception?

A) Barack Obama

B) George W. Bush

C) Bill Clinton
)

D) Jimmy Carter

10) What is VPS feature that helps navigate indoor
locations in Google maps?

A) Virtual Point of Sale

)

B) Visual Positioning Service

C) Virtual Positioning Service
)

D) Vision Positioning Service

11) In 2016 Rio Olympics which country was the third
highest in the medal tally?

A) United States of America
B) China
C) United Kingdom

)

D) Russia

12) Which of the following states of India share their
borders with Bangladesh?

A) Sikkim, Manipur, Tripura, Meghalaya and West Bengal
B) Assam, Mizoram, Tripura, Nagaland and Manipur

C) Assam, Mizoram, Tripura, Meghalaya and West
Bengal

D) Assam, Sikkim, Bihar, Manipur and West Bengal

9) ey e erifa TearTe & TRH & 997 & o1F I, [Aeterad
H & e srader Trgafa 9 78 e W T e?

10) VPS $r=7 77 g So& o #9 #§ TAS adrhe Afenre
A § Aag et 22

12) Faferferd ® & 9 & FiF § 1T TRATET F T ATAT

T FTAT Fd 872

A) Tafgm, Fforge, BT, Jemes $iw ot s
B) =r&H, ST,

A)
)
C) s, fastew, B, Fame i afsr S
D) =&, fofam, e, wfor siw ot s
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13) A digital wallet has two major components, a software
application and information storage. Which of the following
option is not a responsibility of Software application?

A) Storing data in database

)
B) Providing security
C) Encrypting the transaction details
)

D) Providing interface for user to use digital wallet

14) Which of the following statement is INCORRECT for
Urbanization?

A) Urbanization is closely linked to modernization,
industrialization, and the sociological process of
rationalization

B) Urbanization is characterized by common bloodlines,
intimate relationships, and communal behaviour
C) Urbanization can describe the increase in overall

population with time

D) Urbanization is a rapid and historic transformation of

human social roots on a global scale

13) efSrea afere & a1 @ 72 314 &, AFeady T e 3T
AR TSl | 99 § /#1497 fashew qiveaa< Uitaens= $i

e T2t 82

A) SETeH H Z27 e

B) TLET TT FLAT

C) EToFer o fa=or &7 Heheiel AT Uiehe AT

D) STTRAl & ferw fefSreer atere # devhe Fam 7T

14) srgdisvor & a # fferfea & & #9971 F97 T 82

A) TR S0, SRR T, ST TeheTaar
TIATIO AT & aHg qag 8

B) erE{Iaur ATHI I §ae, HI=S Hae, ¥ Aivara®
Fagr | HEagare

C) i, q9Y & 9T T8 TTHEAT H g T ATAT F:T
qFHAT 8
D) TEATHLT A FqT L IS ATATISTR STET AT 1o 31

UTAgTTe I &

15) What is the type of taxation (DIRECT/INDIRECT) under 15) GST (3% U& &aT #X) & ST (e THTL T HLTLTT

GST (Goods and Service tax)? What are the common rates
of GST, if GST is applicable?

A) Direct Tax, (5%, 12%, 18%, 25%)
B) Direct Tax, (5%, 12%, 18%, 28%)
C) indirect Tax, (5%, 12%, 18%, 25%)
D) Indirect Tax, (5%, 12%, 18%, 28%)

(TTE/ATTE) g2 A? GST AR 21 ar GST &t AT T il d-
FAHE ?

A) T 77, ( 5%, 12%, 18%, 25%)
B) eIt F, ( 5%, 12%, 18%, 28%)
C) ITE 77, (5%, 12%, 18%, 25%)
D) #es F7, ( 5%, 12%, 18%, 28%)
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16) Which of the following crops is the main cash crop of
Uttar Pradesh?

A) Grapes

B) Cotton

C) Sugarcane
)

D) Soya bean

17) Diana Edulji was associated with which game and
represented which country.

A) Cricket, England
B) Hockey, England
C) Cricket, India

D) Cricket, Australia

18) Which of the following is TRUE about Indian
Constitution?

A) ltis the only constitution to enshrine parliamentary

elections
B) Itis the oldest constitution in the world
C) ltis the longest of all constitutions of sovereign nations

D) ltis the first constitution which incorporated
fundamental rights

19) The United Nations' (UN) International Literacy Day

takes place annually on

A) 14t November

)

B) 16t September

C) 8th September
)

D) 1t May

16) ITT TRLT T T THa! FOA AT Ed § F DI q g2

17) ST USosl (e & F Haterd o 37 o 397 &7
Stafefee #d 47?

18) AT "fe F A § erferfea & % 7 |47 721 22

A) T HHET FATET AT ITAST FTA BT THAT ST
DREEGRIEILEE R SEIKIECINES

C) T2 "I YT & Wt ATeri § #awy ofar g

D) F€ e "G g S wifers srfershre onfoer &

19) H<F 1 (UN) FT IqTE T A1A¥aT f3ad g a1 e
T T AT SATAT 67
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20) How are Ragini, Dhola and Swang related to the
culture of Uttar Pradesh?

A) Traditional Dresses

B) Languages of Bundelkhand region

C) Folk Dramas
)

D) Local festival of eastern Uttar Pradesh

20) ITT T il FERid | TIRAT, STAT 37T T o8 T &
Haferd g2

A) TR TroTTe

) Fa a7 s

C) ®Teh AT

D) TAT ITT T2 o &R AR

21) At which of the following places is the biggest cattle fair 21) =% & & ®IT9 9T Ifday Taa< A1g § FTidaH LOHET 6

of Uttar Pradesh organized annually in November during
Kartik Poornima?

A) Dadri

)
B) Barabanki
C) Mathura

)

D) Bateshwar

22) What is Virus in a computer?

A) Opponent written opcode to run the system or copy
data to his system

B) A piece of code which performs unwanted operation
resulting in corrupting the system or destroying data

C) A small digital device which performs unwanted
operation resulting in corrupting the system or

destroying data

D) A bot to delete the data and network device

FI 3T U= FT T8 F=T Ha9f 77 s o siar 872

22) T Fee § araed F1 2aT 872

A) ITIgET g7 eed & I a7 o+ e q | a1 FidT
F & foru stuere forar ST

B) TS FT UF UHT ART ST A5 AT FLAT 2 ST
FTOU (HFeH =g eaq g1 STaT g i ST 98 g1 A1 &

C)@Wmﬁﬁwwwgﬁwﬁaﬁammﬁmg
ST 10T ey segafesd gf Jmar g ofiT Se7 7% g1 ST

g

D) T S AT Atz & e ST 4 Ak e bt oy
ST &
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23) Equity cap for Foreign Direct Investment (in %) in
Indian entities publishing newspapers is

24) Who is the inventor of integrated circuit chip?

A) Charles Babbage

)

B) Robert Nayak

C) C.V.Raman
)

D) Jack Kilby

25) Which of the following was NOT the objective behind
demonetization of 8th November 20167

A) To prevent naxal activities and terrorist activities

B) To remove old notes

C) To increase digital transaction

)
)
)
)

D) To unearth black money

26) What is the capital of the state of Tripura?

A) Imphal

)

B) Agartala

C) Shillong
)

D) Aizawl

23) FHTATE T TR FLA ATAT AT FATAT H T
et e (% #) & for st a0 A 82

24) =% ¥ fegiv Sfevee wffe R #1 srfacs

A) TeH et
B) e AIF
c) ®I. &1, 7o+
D) ST faesfl

25) fAwferfera # & & &1 8 Faa¥ 2016 &1 g A0 F7
32T TAH | AT ALl A7

A) THE Aafatat s st arafatest s Trewar

)

B) T FTZH T g2T1

C) FefSreet ZisterT 1w 24T
)

D) FTeT & T qaT ST

26) BT T57 FT TSI H/ ATH FATE ?
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27) Which of the following is the initiative by Uttar Pradesh
Police to counter rumours and fake news through social
media influencers?

A) Samvad Police

B) Digi UP

C) Digital Mitra
)

D) Khaki Mitra

28) As per Indian Constitution who is permitted to take part
in the Proceedings of Parliament?

A) Cabinet Secretary

B) Attorney-General

C) Solicitor General
)

D) Chief Justice

29) Which of the following was an anti-insurgency
operation carried out by the Indian Peace Keeping Force
(IPKF) against the Liberation Tigers of Tamil Eelam (LTTE)
in the Vadamarachi area of northern Sri Lanka in 19887

A) Operation Surya Hope

)
B) Operation Black Tornado
C) Operation Checkmate

)

D) Operation Sarp Vinash

27) wreret HHAT TARLUEH & HTLAH F AFATGH 3T AFHeAT Gt
T HTHAT F o (o0 I T4 e g Fatorted § & #

HT Tger it T g2

28) AT ST % SALAR HHE T FTLATS H TR A
FqAfa e gt 872

29) 1988 H 3L ATeiehT & ATSHIHAT &= § {oraverd T2
T So\ (LTTE)  faeg Sfeaw e fifdr wie (IPKF) 31T
Faferfed & @ 3= |7 g [t st 5o =7 912
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30) The National Security Guard (NSG) is a contingency
force specially equipped to deal with anti-terrorist activities
and to protect states against internal disturbances. After

which major military operation did the Indian parliament
establish the NSG?

A) Operation Blue Star

)
B) Operation Python
C) Operation Parakram
)

D) Operation Cactus

31) Which of the following books is written by Rabindranath
Tagore?

A) A passage to India

B) Saraswati:- A tribute to Wisdom of India

C) Geetanjali

)
)
)
)

D) Freedom at Midnight

32) With which of the following countries did India declare
truce in 1966 by signing the Tashkent Agreement?

A) USSR

)

B) Iran

C) Pakistan
)

D) Afghanistan

30) T e e (NSG) U Aheqa 9 g S [GT & 7
Wﬁﬁﬁwﬁrﬁﬁtﬁﬁﬁrﬁﬁ?mﬁ%ﬁwﬁ%ﬁw

TS T 7T o o0 9 g I 698 « NSG #¥ #2r947 o6
T =T ATIAT o a1 AT 2A1?

31) FRreferfera & & i =t qeas Teiesmrer S g fordt

32) qTIMEE THATT 9T EATAT F:h 1966 § 9ea « [aferted
| ¥ o 21 % Aror i &ter 6y = 6 off?

A) T.TH.TH A

)
B) T
)
)

O

EHETSIEE
D) AETHEATT
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33) In Indian banking, what are the full forms of CTS and
ECCS?

A) Cheque Truncation System, Express Cheque Clearing
System

B) Cheque Truncation System, Electronically Cheque
Clearing System

C) Cheque Transaction System, Electronically Cheque
Clearing System

D) Cheque Transaction System, Express Cheque
Clearing System

34) What are the capital cities of Maldives, Mauritius,

Morocco, Norway?

A) Abuja, Guadalajara, Curepipe, Oslo
B) Male, Port Louis, Rabat, Oslo
C) Abuja, Curepipe, Rabat, Oslo
D) Abuja, Curepipe, Guadalajara, Oslo

35) Qutubuddin Aibak was the slave of

A) Razia Sultan

C) Muhammad Ghori

D

)

B) llitutmish
)
) Mahmud Ghazni

33) Wiy dfdr #, CTS 3w ECCS &1 T &7 FT2?

A) =F gt fEreed, vy = e faey
B) = greheriel freeH, gerrgifasredt = et ffeen
C) = Zioterere e, gersrgiiaenett = e e
D) = gisterere fereew, warire = i foeew

34) =¥ ATAGTE, FILIH, HITEHT, T il TSTTHT DI HI 8 ?

A) ST, TEHASTATSIT, FLLATET, AEAT
B) ¥, T1E =H, Tad, AT

C) SIS, AT, Tad, el

D) #AeSIT, *F[TATET, TATSTEALS, ATee
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36) Given below is a set of states. Arrange them in the

descending order according to the 2011 population census.

A) Maharashtra, Uttar Pradesh, West Bengal, Bihar and
Andhra Pradesh

B) Uttar Pradesh, Rajasthan, Telangana, Jharkhand and
Madhya Pradesh

C) Maharashtra, Uttar Pradesh, Gujarat, Rajasthan and
Karnataka

D) Uttar Pradesh, Karnataka, Tamil Nadu, Kerala and
Gujarat

36) = faw U AT T UF T 1 2011 FT SAETET il STATOAT
% ATHT I ALl FiF | HATEAT H|

A) FERTE, 3T U9, T2 ST, fag i stier w=er

)

B) 3T 9T, TSTEATH, T, TGS AT T&T T29T
)
)

C) HRTRTY, 3T T3, T, TSI ST FAleh

D) 3T Y&, FATCH, THAATE, e 3T [T

37) Match Book names in Column A with Author's names in  37) F{H A & T&qa & ATH & HiaH B % @@ & 910 & Hamw

Column B

Column A (Book Name)

Column B (Author)

a) Anna Karenina

i} William Shakespeare

b) The Apple Cart

i) Leo Tolstoy

c) As you Like It

iiiy George Bernard Shaw

d) Ben Hur iv) Lew Wallace
A) (a) - (i), (b) - (i), (c) - (iii), (d) - (iv)
B) (a) - (i), (b) - (i), () - (i), (d) - (iv)
C) (a) - (ii), (b) - (iii), () - (i), (d) - (iv)
D) (a) - (ii), (b) - (i), (c) - (iv), (d) - (i)

38) For sharing of Indus waters, Indus Waters Treaty was

signed between the governments of

A) India and Nepal

B) India and Pakistan

C) India and Afghanistan
)

D) India and Bangladesh

T

HIAT A (TE0® &T A0 ) | Hied B (d95)
a) ST FLAAT i) T avatige
b) & T FE i) gt ziwgeig
c]u?rzrwg_-:— iii) FTS T &1
d) 3= iv) 7 FTEE

A) (a) - (i), (b) - (i), (c) - (iii), (d) - (iv)

B) (a) - (iii), (b) - (i), (c) - (i), (d) - (iv)

C) (a) - (i), (b) - iii), (c) - (i), (d) - (iv)

D) (a) - (ii), (b) - (iii), (c) - (iv), (d) - (i)

38) fiey St & aT=ATRT & forw, ey ST sw=Atar e <t &t

LRI & = garm &r?

A) HTTT I Tl

B) T &fiT uTfeheaTT
C) WA I AEATAEA
D) 9T 3T TRATI
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39) Which of the following is the force guarding the borders 39) g =TT & TEd AL =l HIWTA =l TEAT FXA ATAT qA

of India under the Ministry of Home Affairs? Rafrfead & F #9187
A) Central Reserve Police Force A) F 5 qfer oo
B) Sashastra Seema Bal B) HIH HHT &

C) Intelligence Bureau c) 2efai® =g

D) National Security Guard D)% I AT T

40) What was the theme of Indian Seed Congress 2017,

held in Kolkata? 7 of1?

A) Need the Seed A) e T e
B) Seed of Joy

)
)

C) Seed for better future
)

D) Seed to Progress D) §IE T IR
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Section 2 - Subject02-Mental Ability

41) A word with letters jumbled have been given. Choose
the correct order of letters which are required to form the
correct word.

Jumbled word: RTSOW

A)3,1,2,5,4

)

B)5,4,1,3,2

C)1,3,2,5,4
)

D)4,5,1,3,2

42) The missing term in the sequence 16, 45, , 915,
5496, 38465 is

43) Four options are given below. One of the four options
can't be formed by using the letters of the word
EXPERIMENTAL. Find that one word.

A) METER

)
B) PRIME

C) MENTAL
D)

PERIMETER

41) FAARIT AL ATAT Ueh 977 QAT TAT g1 AL o UH Tl
T A 3 (o1 STTSHT TaT 9168 aTaT ST T3

Featerd 9re=: RTSOW

A) 3,1,2,5,4
B)5,4,1,3,2
C)1,8,2,5,4
D)4,5,1,3,2

42) #7 16, 45, , 915, 5496, 38465 H AT HEAT &:

43) F= A e R w81 = F | T v e #r

AT, esg EXPERIMENTAL 3 31211 § Tl aTaT ST Feha Tl
g T 953 AT HL|

A) METER

C) MENTAL

)
B) PRIME
)
D)

PERIMETER
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44) If the price of an article increases by 49% and the sale
of that article decreases by 21%, then what is the

approximate effect on collection?

A) 21% decrease
B) 15% decrease
)
)

C) 18% increase

D) 28% increase

45) A,B,C,D, E, F, G, H and | are nine houses. C is 2 km
east of B. Ais 1 km north of B and H is 2 km south of A. G
is 1 km west of H while D is 3 km east of G and F is 2 km
north of G. | is situated just in middle of B and C while E is
justin middle of H and D.

What is the approximate distance between A and G ?

A) 2.4 km
2.24 km

)

B) 2 km
)
) 1 km

44) 7f3 TF T 6T HIAT 49% TE ST & ST 39 aeq At foht
21% =€ STTAT &, T T THAT T SALHTAT THA1E FAT ZE0T2

A) 21% FT
B) 15% #¥
C) 18% Ifx
D) 28% Tt

45)A,B,C,D,E,F,G,H3T IFT=X g1 C,BF 2km T # &l
ABF1Kkm3ITHEATH,AF2km IO HEI G, HF 1
kmafZm HEsafF D, GF3km @ H T F, GF 2 km

IAHEN I, BARC F Hex § fouq g St E, H siw D % 31
7T H 2|

A ST G % d1= T g AT fohaet 22

A) 2.4 km

2 km

)

)

C) 2.24 km
) 1 km
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46) A statement followed by two assumptions are given
below. Select the assumption(s) from the options which is
implicit in the statement.

Select :

(A) If only assumption (i) is implicit

(B) If only assumption (ii) is implicit

(C) If both (i) and (ii) are implicit

(D) If neither (i) nor (ii) is implicit

Statement: We should work hard to be successful in our life

Assumptions:
i) Being successful in our life is desirable

i) We will be happy if we work hard

47) The population of a town increases by 80% in the first
year and further it increases by 20% in the second year.

The overall increase percentage in population in two years

46) 1= 3T T FAT F F1E &7 g0 &F TS gl {7 T Eewent
H & IH LT T FAT FE S HAA § FqA 12 2

kS

(A) 3T Faer & (i) afifza g

(B) 3T Faet & (ii) siafifza g

(C) = T (i) 3 (i) stafifea &

(D) =f2 7 ¥ (i) 3w 7 2 (i) safiza 2

FA: gH AU SHad & T g1 % orT FFt Agad w1 AT

CIERIILS

i) ST STt § A g1 ATSA T B

ii) X TH FET HgAd Fd g df g7 g gl
A) B

O o

)
)
)
)

)

A7) 9T T ATETET Tgt a9 § 80% FE ST & SAI¥ 38 918 Tg
T U H 20% € ST 2| &1 AT H TAEEAT H T Tra9rd Ife
AT grfi?

A) 95%
B
C

D

100%
80%

)
)
)
) 116%
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48) If the seventh day of a month is three days earlier than

Friday, what day will it be on the nineteenth day of the
month?

A) Friday

)

B) Monday

C) Sunday
)

D) Wednesday

49) Directions: A statement followed by two arguments
numbered (i) and (i) are given below. Select an option to
decide which of the given arguments is strong and which

argument is weak in respect to the statement.

Statement: Should there be only one university throughout
the country?

Arguments:

() Yes. This is the only way to maintain the uniformity in
standards of education throughout the country

(i) No. It is quite difficult to control the university processes

administratively in several parts of the country

A) Only argument (ii) is strong

B) Both arguments (i) and (ii) are strong

C) Neither argument (i) nor argument (ii) is strong
)

D) Only argument (i) is strong

48) T2 WE FT At &, AN & T & T2 arar g, av
HEIA T SSEal (@ I A7 faT gRm?

R

49) T<er: W § Tah FHAq7 % 918 &l q (<0 7 g o1 (i) 3 (ii)
T 33T 797 1 98 97 T & (o0 us fSwew w1 T e
T T Tt & | FAT F GA § DI GT A TG @ AT DI a1
T FHASN B

FAT: FIT I 39T | Had T (AT giT aTgu?

(_‘F’%'

(i) BT X 291 | TreA7 % A1t § THEIAT a0 L@ F Tl
THATS T 2

(ii) TEN =91 F FT BEAT | werAE w9 7 oAty vtwarst
&1 A= F2aT wrht giewa 2

A) FFe T (i) TSTGT &

B) T @ (i) ¥ (i) A7 &

C) a1 @ (i) 3T T & T (i) T5aqq &

D) Fad T (i) 79 &
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Direction for Questions 50 — 51: Direction for Questions 50 — 51:

Read the following information and answer the question ZT TS ST &l TgFe eferfed S &7 39¢ aia:
that follows:

Zferor stofverT 3 e 4 &= it ODI " 7 7 fbere i gren
The runs scored by 7 cricketers in a 4 match ODI series AT 70 7T T O T F 0T AT

against South Africa is given in a table.

TEd AT R R AT H AT A S A
fFFecl & ST SACIT SMTC AT §9TC Y

N i Runs Runs Runs Runs i) LG TR A 1 A )
ame of the . . . .
. scored in |scored in scored in 'scored in e e qET e
Cricketers
1st match 2rd match 3rd match ‘4t match
Robin SURREERILECTS 43 76 14
35 43 76 14
Uttappa
Trfga a|T 12 58 32 41
Ronhit )
12 58 32 41
Sharma T et 56 38 89 71
Virat Kohli 56 38 89 71
M.S.Dhoni 21 23 48 57 TR T 21 23 48 57
Suresh
Raina [ ° 29 5 15 AT 66 29 56 15
Yuvaraj .
. 36 72 20 55 RERENE AT 72 20 55
Singh
Ravindra - - 1o 46 THix STEST g 29 42 46
Jadeja
50) By what percentage approximately the total runs 50) faTe ArEeft ZTRT AT T FA T AT 3 LRI

scored by Virat Kohliis more than the total runs scored by & F1 <1 1 T & firaet srftera aifer: €2
Robin Uttappa?

A) 51.20%
A) 51.20% B) 55.30%
B) 55.30% C) 48.20%
C) 48.20% D) 58.90%
D) 58.90%
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51) Who scored the 2nd highest runs in the series among
the 7 cricketers?

A) Virat Kohli
B) Suresh Raina
C) Robin Uttappa

)

D) Yuvaraj Singh

52) If 'North' becomes 'West'. "West' becomes 'South' and
so on, then what will 'North-East' be called?

A) East

)
B) North-East
C) North-West
)

D) South

53) R walks towards north. After a while, he turns to his
right and after going little further he turns to his left. Finally,
after walking a distance of 1 km more, he turns to his left

again. In which direction is he moving now?

A) North

)

B) West
C) East

D) South

54) The missing term in the sequence 3, 90, 3600, ,
10800000 is

A) 720000
B)
C)
D)

200000
180000
540000

51) 7 et # | SIS § O 999 SATT IF a1 ATl
AT HIT 82

52) 7tz 'North' 'West' a7 SITaT g1 "'West' 'South' & STTaT &
TATR, a1 'North-East' T FIT Fgl STUT?

A) East

)
B) North-East

C) North-West

D) South

53) “R” ITX &l AT TAAT gl T <L AR, g ATAT q1% AT
AT S 3 T I T HT AIAT a1 AR q=ar 2| AT H 1km T
S % a1, aE [T | T+ 91% A q=aT ¢ 919 ag g e &
ST TR 2?

54) %7 3, 90, 3600, , 10800000 # sFufead H&=AT 2

A) 720000
B) 200000
C) 180000

)

D) 540000

Page190f58


https://applink.adda247.com/d/XhqWf9lSap

Setld : 51357_10

Computer Operator 21-12-2018 Batch01

55) If P denotes ‘+’, Q denotes ‘-, R denotes ‘+’, S denotes  55) sRIT P & T a2 ‘+', QFT o7 =, RAT o7 ‘+, SFHT A X' §

‘X" and 28P8R4Q3S1= a3, then the value of "a" is

oz
- w N

)

56) Select one of the following four options that will make
the second pair analogous to the first pair given as:

Coffee : Ethiopia :: Tea :

A) China
B) India
C) Brazil

)

D) Pakistan

57) Select one of the following four options that will make
the second pair analogous to the first pair given as:

Seismology : Earthquakes :: Occultism :

A) Supernatural

B) Silk

C) Astronomy
)

D) Eggs

T 28P8R4Q3S1= a3, a1 "a" FT HIH T4 HIT9U]

z 2

N

w N

O

)

56) fwferfad = fasedt § & U &7 F79 F2 ST g0 ST A0
TEAT STTET o AT FAT &
FIhT: i | =T

O - >

57) feferfaa = et § ¥ U &7 97+ F ST % gEd St
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58) In the figure given below, circle represents youths,
triangle represents the persons who are in job and
rectangle represents illiterate persons.

A
2

Which of the following numbers depicts illiterate youths
who have a job?

59) A statement followed by two assumptions are given
below. Select the assumption(s) from the options which is
implicit in the statement.

Select

(A) If only assumption (i) is implicit

(B) If only assumption (ii) is implicit

(C
(D

) If both (i) and (ii) are implicit
)

If neither (i) nor (ii) is implicit
Statement: Detergents should be used to clean clothes
Assumptions:

i) Detergents form more lather

i) Detergents help to dislodge grease and dirt

58) == &1 ¢ smRfa &, I, AT FT FfafAfeeT war g,

I I SR T TTATA TS FEaT g ST STid e @ S A,
srforfera =rfpat 1 Zerdr gl

AR
N3

fFreforfem & & Fr o e 37 srfarferg arsit v zofdi g
IEEERILECIE R

>

vgvv
w b ()]

o
-
o

)

59) 1= U FI7 % 918 &I &0 & 1% 3| w0 e § 5
S T AT AT FE ST F9T H AqA 2T 8|

kS

(A) 3T Fae &To (i) safHied §

(B) 3RTX haet & (ii) safHiied &

(C) =tz T (i) & (ii) sAHfed &

(D) =fx T4T (i) 3= 7 27 (ii) siaMed g

FAT: FAS] 0 RIS % o0 fSeste T T ST A1)
CIEUIILEN

i) fRaste =TT a7t =T 2

ii) feeste foEaTe fiT 72t T ge™ § 732 F4d 5
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>

) C A) C
B) B B) B
C) A C) A
D) D D) D

60) Choose the alternative which closely resembles the 60) T fasrew T 9399 2 ST (U T S 6 907 Jiafae &

mirror image of the given combination. FISH889EAT forerar-srarar €2 FISH889EAT
A) TA3sesH217 A) TA3sesH217
B) T3A8e8H214 B) T3A8e8H214
C) TA3ess82HIA C) TA3ess82HIA
D) TAJegsH213 D) TAFegsH213
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Section 3 - Subject02-Reasoning

61) Select one of the following four options that will make ~ 61) FRsferferd = fGwedt & & UF w1 =399 F ST AL ST &
the second pair analogous to the first pair given as: TgAT STIST o THET AT

IMPACT : PMITCA :: ANSWER = ? IMPACT : PMITCA :: ANSWER : ?

A) SNAREW A) SNAREW
B) SRWENA B) SRWENA
C) ASNWRE C) ASNWRE
D) ARSEWN D) ARSEWN

62) Which picture is different from the other pictures inthe 62) = iU s & & FA & == o577
figure given below? == & s g ?

K K

m @ @ @ m @ @ @

A) 3
A) 3

B) 1
B) 1

C) 2
C) 2

D) 4
D) 4
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63) Identify the odd one out that does NOT satisfy the
property: The letter next to a vowel

S oz 2
< X W T

64) A triangle is formed by natural numbers from 1 to 21.
First row has 1st number, 2nd row has next two numbers,
3rd row has next three numbers and so on. Which of these

numbers when joined forms a triangle?

A) 5,12,14,5
B)1,7,16,1
C)9,13,18,9
D) 11,13, 15, 11

65) Sunil buys 6 pens for Rs. 10 and sells them at a price
of Rs. 6 for 4. What percentage is the loss or gain for
Sunil?

A) 10 percent gain
B) 10 percent loss
C) 12 percent loss
)

D) 12 percent gain

63) I Thel FAOH Tl TEAT ST H 07 30 [T qgl Tl g TF
T A AT AT HEAT

S oz 2
< X W T

64) TF BT AT 1 | 21 T 0 TTH(dH TEAT AHT T TT
g1 TEeAT Ufch | UgeT HeAT 8, T Gih § SnreAt a7 "’ @ oY
LT feh | STedt S §eAT 8 3Tl | 3AH & i 1 g
ST ¥ B awar 82

A) 5,12,14,5

)
B) 1,7,16, 1
C)9,13,18,9
)

D) 11,13, 15, 11

65) g1 .10 § 6 FeTH @IAT ¢ 30T Tvg L. 6 il FirAq 72 4
FAH FAT 5| AT o6 oI THETT AT ATH Foha= T Tfaerd 872
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66) A set of statements is given.
A) P is a perfect square,
B) P is greater than 2000.

Which of the given set of statements should be used to

66) FAT T T FIg foam 7T 2l
A) P T 7 2,

B) P 2000 # &Tfa= g1

IR P>1 A1 7T P UF AT HEAT & TH THET FT AL
T T o o0 @ 10 o % | § & et ST Tar

decide the solution to problem: Is P a prime number if P>17? ; feu?

A) Both A and B together

B) Only B

C) Only A
)

D) Not possible to decide even with both A and B

67) Look at this series: 100, 92, 85,79, 74,

What number should come next in this series?

68) In a business meeting, there were 8 persons who were
shaking hands with each other only once. How many hand
shakes will take place?

A) 3
B) 2
C)2

)

D) Cannot be determined

A)A3ﬁTB?a_rﬁQT=FHT%T
B) Fa
C) Fa

D) A =¥ B EET & A7 AT T F3A1 999 751 ¢

67) =9 @7 #I <f@T: 100, 92, 85,79, 74,

TH J@AT H AW A HT HAT A1 AR 0?2

68) T SATTATHIT 5% §, 8 &N &, ST UH-ZAL F AT T &
T g HaTT g1 AT aae § et a1 grer fwema?

A)3
B) 2
C)2
D) ﬁaf&aa‘{rﬁm‘rmm%
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69) If L>M, M=N and D<M, then which of the following 69) Tf@ L>M, M=N =iz D<M, T7 91 & | &I 97 449 TAq 5?2
relations will be false?

A) L>D
A) L>D B) M<L
B) M<L C)L>N
C) L>N D) N<D
D) N<D
70) There are two towns, A and B. In A, population 70) 3T 9T 8, A &liT B. A, 2T 99 10,000 FT SITET&T I ST T
decreases by 10,000 every year. In B, population increases gl B #, 8% a9 15,000 =¥ sTaTal 9 STl g1 B 3T A &t qTEfs®
by 15,000 every year. What should be the difference ATETET & S Sq 7T AT AT T ATS T ararar 30 9 918

between initial populations of B and A if their population AT T AT 872
becomes equal after 30 years?

A) 450000
A) 450000 B) 750000
B) 750000 C) 600000
C) 600000 D) 108000
D) 108000

71) How many triangles are there in the following figure?  71) Rsferfea e & g BT 82

D v E 5 ;; £
B 7 C [
B 7 C
A) 4 A) 4
B) 9 B) 9
C) 10 C) 10
D) 2 D)2
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72) If the signs '+' and 'x' are interchanged, then which one

of the following four equations would be correct?

A) 20x2+5+1-6=29
B) 38-14+2x6+3=12
C) 50+2x5-6+2=27

)

D) 16+12-6x2+2=22

73) Badri and Vasu are running at the same speed of 12
kms/hr. However, Badri started an hour earlier than Vasu.
The distance between source and destination is 200 kms.
After Vasu has covered 40 kms, he decides to increase his
speed so that both of them reach the destination on time.

By how much should Vasu increase his speed (in kms/hr)?

74) Find the odd one out.

A) Vikramshila University
B) Pushpagiri University

C) Valabhi University
)

D) Takshashila University

72) Tf@ '+ 3T X' =gl Ff M99 § g5 v qrar g, av
Referfad =< aH=o § 9 i 91 Jef ge?

A) 20x2+5+1-6=29

B) 38-14+2x6+3=12

)
)
C) 50+2x5-6+2=27
D)

16+12-6x2+2=22

73) FET 3T AT UF & Td & 12 kms/hr 3T T2 | AT, ot
T AT | U 5 Tgl & AT BT AT Taqeq 6 o= g2 200

kms g1 a1 T 40 kms ¥ T TF FF % d1g, qg TIAT T
FET T HEAT FIA @ AT a1 q0T T2 I[qT Tgo qe6 | a1 Fl

ot fq et szt ER (kms/hr #)?
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75) In each of the pair given in options, the 2nd term is
related to the first term in a certain way except one. Which
is the odd one out?

A) Fiction-Novels

)
B) Literature-Poems
C) Science-Geography
)

D) Calculation-History

76) Among the given triad of terms, identify the triad in
which the terms are similar to each other.

A) RT-MO-BD

)
B) AC - NP - JK
C)YZ-CD-MT
D) JD - RT-0S

77) How many triangles can you count from the given
figure?

75) famedt 7 3T 10w STt |, T 9% US & B & Tl
T H U AT a8 ¥ qat8d 21 34§ F F 97 [GAuH g2

76) faw U T 9T | &, I A4 A TgA F SEH 9% U
THL & HHE 272

A) RT-MO-BD

)
B) AC - NP - JK
C)YZ-CD-MT
D) JD-RT-0S

77) few o 7 & s e B = [ w82
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78) A chart is given here. Using this chart choose the 78) FE( UF ATE (AT TAT €| TH ATE HT ITART Fd g 3T

alternative which resembles most closely the mirror-image 3T &1 597 #¥ ST FRANKY &7 & avvr-sfafess & qaer

of the string FRANKY. fere femar 21

Mirror Mirror Mirror
Letters Letters Numbers A \VJ N M 1 *
Images Images Images

A \ N M 1 * B © © 0 @

B o o 0 5 @ C U P Q &

cC u P Q & 0! @ P 4 %

E F R S

D I Q P 5 #
4 % F E S R

E F R S 6 !
5 # G G T I

F E S R 7 L
6 ! H N U U

G G T I 8 B
7 L | H \% \

H N U U 9 P
8 B J P W M

I H \% \% 0 ?
9 P K \% X X

J P W M 5 R

K v X X ! L P Y \%

L P Y \% M N Z N

M N Z N

A) ESVMVV

A) ESVMVV B) ESVVVN

B) ESVVWN C) EVV5VM

C) EW5VM D) ERVVVN

D) ERVVVN
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79) A cube of side length 16 cms is painted red on two of
its opposite faces. On remaining faces, it is painted blue. It
is then cut into small identical cubes of side length 4 cms.

How many cubes will have exactly two faces coloured, one
red and and one blue?

80) Showing Ruben, Vivek told, “His only brother is the

father of my daughter’s father.” How is Ruben related to
Vivek?

A) Father
B) Grandfather
C) Brother

)

D) Patemal Uncle

79) U= °= ekt foRATY i “ETs 16 cms
g ST &I AU Tqg AT 7 | W g ST arehl §dg el a7

. =9 4 cms AT T FaTS % T G99 IS F41 H FIel 47 5.
e = U g fSrreht &7 |Jag WA gt U o7t ST gadt

80) % T feamshe, e 7 g, " T U 1A ATS AL T
& fOar & AT 81" %o F7 [@o® & F7 g4 g2

foar
arar

are

AT

A
B

o O

)
)
)
)
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Section 4 - Subject03-Computer Science

81) In one of the scenario's, user wants to write the output ~ 81) TRFAT | | U H, ITATHAT A3 Te &l TF I8 T fora=r
to a page. Which of the following JavaScript commands e g1 zae for feraforad & & Fi ar st S

should be used for the same? STATT AT ST ATfR?

A) Jscript.write A) Jscript.write

B) HTML.write B) HTML.write

C) Itis not possible C) TE HATTEI €

D) document.write D) document.write

82) Identify the MS Word tool shown in the following 82) fAwferfaa o # fam@mw 1w MS a€ 2 it 7= #¢?
picture?

4 4l

A) Word Art
B) Font Colour
A) Word Art C) Merge Text
B) Font Colour D) Text Box
C) Merge Text
D) Text Box
83) In RDBMS data is stored in: 83) RDBMS ¥ 22T &gl §Ufed 2laT 87
A) Trees A) Trees
B) Lists B) Lists
C) Tables C) Tables
D) Networks D) Networks
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84) Queue is

A) Both Linear and Non-Linear data structure

)

B) Structural data structure

C) Non - linear data structure
)

D) Linear data structure

85) Which of the following C statements can also be used
in place of num[i]?

@) *(num + i)

(ii) i[num]

(iii) *(i+num)

A) Only (ii)

B) (i), (ii) and (i)
C) Only (i)

D) Only (iii)

86) The boolean expression
Z = ABCD + ABCD + ABCD + ABCD

can be minimized to?

A) Z = ABC + BCD + ABCD)|
gy Z = ABCD + BCD + ABCD
C) Z=ABCD + BD + BCD

D) Z = ABCD + BCD + A

84) T FT &2

85) Maferfera & & 9 & FHI9 FT ITART num [i] F =T 97 ff
[ERISIE:EX IR

@) *(num + i)

(ii) ifnum]

(iii) *(i+num)

A) ¥4 (i)

B) (i) , (ii) = (i)

C) #ad (i)

D) Tt (iii)

Y EEREEEED
Z = ABCD + ABCD + ABCD + ABCD

T fohaaT &7 T ST ahar 87
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87) Find the logic equation for the truth table given

2 B Y
1] 1] ]
1 1] 1
1] 1 1
1 1 ]

A) v = AB* AR

B) ¥ = AB* AF

C)¥ =48+ AR

D) ¥ = A5 + 48

88) Study the screen shots given below.

Data 1 Data 2 Data 3 Data 4
100 200 300 400
500 700 500
500
fig 1
Format Cells B
Mumber  Alignment I Font I Eorder I Patterns I Protection l
Text alignment “Orientation -
Horizontal: Trderit:
T e | =
T
Yertical: &
®
IBottom _'J E
Texk control ig E‘ Degrees
™ wrap test =
™ shrink ko Fit
I Merge cells
oK I Cancel I
fig 2

The number 500 has been given a two-column spacing.

What option must be selected from the image above to
achieve this?

A) Shrink to fit

B) Wrap Text

C) Select two cells and press delete
)

D) Merge Cells

87) o 7w g1 2|t & forw (S sehem &t

& B Y
1] 1] 1]
1 0 1
0 1 1
1 1 1]

A) ¥ = AB* AB

B) ¥ = AB* AR

C)¥ = AB + AR

D) ¥ = A5+ 45

88) = 3T U &I Tfed T AAAT HL |

Data 1 Data 2 Data 3 Data 4
100 200 300 400
B00 Joa 500
500
fig 1
Format Cells B
Mumber  Alignment I Font I Eorder I Patterns I Protection |
Text alignment “orientation -
Horizontalk: Trderit:
; == |
Wertical: e
®
IBottom _vJ E
Texk control H Cegrees
I wrap kext -
I shrink to fit
™ Merge cells
Ok I Cancel
fig 2

TEAT 500 FT UF I-H I8 TRRT & T F1 TH ITH F7A & fory
SR THST & I AT fshed A7 ST AR 0?

A) Shrink to fit

B) Wrap Text

C) Select two cells and press delete
)

D) Merge Cells

Page330f58


https://applink.adda247.com/d/XhqWf9lSap

Setld : 51357_10

Computer Operator 21-12-2018 Batch01

89) Find the logic equation for the truth table given:

& E b
0 1] 1]
1] 1 1
1 1] 1]
1 1 1

A) ¥ = AB*( 4+ B

B) ¥ = AB+ AB
C)¥ =(AB*B
D) Y=8B

90) Which element would get first deleted from the stack?

A) The element in the middle of the stack

C) The element at the bottom of the stack

)
)
)
)

91) Which of the following options specify how many

instances of an entity relate to one instance of another

entity?

B) Any specified element

A) Redundancy

)
B) Ordinality
C) Atomicity
D) Cardinality

D) The element at the top of the stack

89) faw T zor Ta & forw A+ Thee @i

&
0
1]
1
1

ol (=1 = '} un]
(=1 =T LA

A) ¥ = AB*( 4+ B

B) ¥ = A8+ AF
C)¥ =(AB*3B
D) Y=8B

90) fer ® e Uferdiz @@= H § g2« 3 grmn?

91) faforfera & & 9 a1 fasew Afde Fear g & G ofedy
T TRt sTaeaTd foReT o= Ufedt & Ue saeIT & gafed g2
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92) What would be the resultant value after executing the
function =-SUM(C2:C3) as shown in the following figure?

4 - F =-SUM{C2 C3)
A B C ]
1
25 1234
3 1235
4 | .

5

A) 1234

B) 2469

C) Invalid

D) -2469

93) Which of the following options does the CPU memory
include?

A) Secondary Memory

B) Only Scratch Pad Memory

C) Scratch Pad Memory and Cache Memory
D) Only Cache Memory

94) Identify the CORRECT declaration of double
dimensioned array.

A) intarr[2,2];

)
B) int arr[2][2];
C) int arr[2][3][4];
)

D) int *arr[10];

92) fReferfaa sfa & o amr, %% = -SUM (C2:C3) &t
BTl 2 % arg qioTHT g FT ZEm?

4 - F =-SUM{C2 C3)
_ & B C ]
1
2 1234
3 1235
4 | !
g
A) 1234
B) 2469
C) T
D) -2469

94) FraraTHY U F Tl Raeere Y vg= w1

A) int arr[2,2];
B) int arr[2][2];
C) int arr[2][3][4];
D) int *arr[10];
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95) Which of the following statements is true about 95) STaTfesm™= & AT § Mefafead § ¥ i a7 %99 Tl 87
JavaScript?
A) STaTERT TRIE FATE9 & T Fitead (TFFE)

A) JavaScript doesn't execute without preliminary TR BT

compilation B) STETIEA™ U F2(dee AT Al &
B) JavaScript is not an interpreted language C) HTML % |7 STaTtese &l firead (THFE) Fd &
C) JavaScript along with HTML should be compiled TR AT (T ST ey

before executing D) m ST ATEerer i Far FrAtfeara (vge)

D) JavaScript executes without preliminary compilation

96) Who is the father of computers?

96) FFAEL T T [ Fgl SATAT & ?
A) Gottfried Wilhelm von Leibniz A) TikrEe faegw 7t forafas
B) Joseph-Marie Jacquard B) STTE-AYT SI&hTe
C) Charles Babbage C) TeH aferst
D) Wilhelm Schickard D) faeew forre

97) Which of the following conditions correctly check the 97) A feafaat & & &= = fourfq g 7 stewwrtr &t Fafa &7

underflow condition in a queue? el & | T=dl 872
A) front = -1 A) front = -1
B) rear =1 B) rear =1

)
) re

C) rear = size C) rear = size
)

D) front = size

)
) re
)
)

D) front = size

98) What does a Quad in a K-map represent? 98) K-map & T# Quad FT FATaT 5?

A

) Difference A) SRR
B) Sum B) T
C) Product C) TThA
D) Don’t care D) ie FaAY
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99) Which of the following can be an internal storage
device?

A) Pen Drive

)
B) Compact Disk

C) Hard Disk

D) Digital Versatile Disk

100) Start
Read n1, n2

If n1 > n2 then
Print n1

Else

Print n2

End if

Stop

What will be the output if we change the condition to

n1<n2?

A) n1 will be displayed

)
B) Largest of the two numbers will be displayed
C) Smallest of the two numbers will be displayed
)

D) n2 will be displayed

101) Simplify
Z=(A+5+0)D

A) Z=A+BC+D
B) Z =AB+CD

C) Z=AB+h+D
D) Z=AB+(+D

99) fRefefad ® & 19 UF Zevaa € [2a12d gl aFdl 87

100) Start
Read n1, n2

If n1 > n2 then
Print n1

Else

Print n2

End if

Stop

T3 ZH o1 &1 g n1<n2 FT Id & AT THOTH F9T g2

A) n1 y=fea grm
B) &1 H&A TSl § § =T gafeld g
C) AT et # & Fre gaffa e
D) n2 wafsta g

101) £ = A+ B+OVD o et v

A) Z=A+BC+D
B) Z =AB+CD

C) Z=AB+Ch+D
D) Z=A(B+Cy+D
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102) Which of the following infix expressions is obtained on  102) Treefhad TFIT AB - C + D E F - + $ Fr ufeafda
converting the postfix expression AB-C +DEF - + $? T O 9 & | I A7 S CRFT TS ST A SATAT 52

A)A-B+C+DS$E-F A)A-B+C+DS$E-F
B)A-B+C$D+E-F B)A-B+C$D+E-F
C)A-B$C+D+E-F C)A-B$C+D+E-F
D)A+B-C$D+E-F D)A+B-C$D+E-F

103) Simplify Z = A BC + A 103) Z = A BC + A F1 wvefiga #¢
A) 7 = B Az = BC

B) 7 = B +1 B) 7 = B +1

Cz-AaC Cz-AaC

Dzg-T Dzg-T

104) The formula =C3+C4+C5 has been copied from cell ~ 104) ®HAT =C3+C4+C5 Ff C7 & & E7 & § FHIdT FhgT 17
C7 to cell E7. What will the formula bar display when the 8| ST 8 &@@e E7 & § g7 Al BIHAT a1 T T&f9q

cell selector is in cell E7? FLT?

A) =E3+E4+E5 A) =E3+E4+E5

B) =E4+E5+E6 B) =E4+E5+E6

C) =C7+D7+E7 C) =C7+D7+E7

D) =C3+C4+C5 D) =C3+C4+C5

105) You need to save an existing word document in 105) SATTHT TF HISET € SIFIHE Tl (el 37 719 | 49 Fied

another name. Which of the following options will you use? @t sTaeaaar g 9 Aot & & e ST #7 ST #3972

A) Insert A

) ) Insert
B) Save As B) Save As
C) Save C) Save
D) Edit D) Edit
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106) A queue in which addition as well as deletion of
elements can take place at both the ends is called

A) Simple queue

B) Circular queue

C) Double-ended queue
)

D) Priority queue

107) What is a Signature in the email?

A) ltis an in-built digital signature sent alongwith your
email ID as a QR code

B) Itis an electronic and digital signature sent alongwith
your email

C) ltis actually the email ID of the sender attached at the
end of the email body
D) Itis a block of text appended to the end of an email

message generally having contact information of user

108) Which one of the following is a secondary storage
device?

A) Monitor

B) RAM

)
)
C) Hard Disk

)

D) Processor

106) TF ¥ SreH UlerHe &l e & JT-87 geTdT 386 a1l
TR o 3T ST TRt 2, S/ AT FET AT 872

107) S ¥ T ZEATLAR FATZ1AT 272

A) 72 T&% QR T & ®T § 3T THA ID & 8T 91 3T TH
e Rives g g

B) T ATTH THA & HIA AT TAT Teh TAFL (16 ST FEieet
FETET 8

C) 7 FTqq § TH ALST % o & A7 TF T 7 ID Tt &

D) Tg U THA G397 % dd H HAT TFe Tl U A1 g (o
A T 9T ITATEHAT =l HO%h SAEFHRET 21T

108) FMErferfed § & #19 UF qahedl &R [farza 2?

RAM
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109) What should be looked at first to find simplified

Boolean expression from a Kamaugh map?

A) Quads
B) Singles
C) Pairs
D) Octets

110) Ethernet is also known as:

A) 803.2

B) 802.3

C) 802.5
)

D) 802.11b

111) Which of the following prefix expressions is obtained
on converting the infix expression A* (B - C)?

112) Simplify £ = AB + ABC
A)A+B
B) AB

C) apc
D) 4+ BC

109) UF FTET HT & TLA T LAAT AT Hl Gl 6 (T qae
Tgl FAT I@T T AT 0?2

110) TaAe & o7 fohg &7 7 ff 7 A1aT 2

A) 803.2

)
B) 802.3
C) 802.5
D)

802.11b

111) e TFgeE A* (B-C) R aRafdd s a A § 7
T & AR T ST A ST 82
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113) Which of the following conditions holds TRUE for
a queue of fixed size?

A) Both Overflow and Underflow

)

B) Neither Overflow nor Underflow

C) Underflow
)

D) Overflow

114) The first generation of computer was based on

A) VLSI microprocessor

)
B) Integrated Circuit
C) Vacuum tubes

)

D) Transistor

115) What s a virus?

A) Itis a computer device that can copy itself and infect a

computer without permission or knowledge of the user

B) Itis a computer keylogger that can copy itself and

infect a computer with permission or knowledge of the
user

C) ltis a computer device that can copy itself and infect a
computer with permission or knowledge of the user
D) Itis a computer program that can copy itself and infect

a computer without permission or knowledge of the
user

113) 3 feurfaat & & =i #ft Rafa vs Afsm s frag +
forT &= 87

115) T FTAH FAT AT 52

A)Qﬁﬁwwmgﬁmaﬁaﬁﬁmwgw
STARTHAT 1 FLATT AT SATAHRN o (9T HHEL il Hh T
FLAFATE

B) T FIEY AT & ST T i F T F7 7T 2 M7
STARTHAT 1 FLATT AT STTAHTEN o T FEL Il GBS
FLAFATE

C)Qﬁﬁwwmgﬁmaﬁaﬁﬁmwgw
STARTHAT 1 FLATT AT TR o6 T FEL Il GBS
FLAFATE

D) T FIEY TIATH & ST E A T FHAT E AT
STARTHAT 1 AT AT AR o (9T HEL Hl Hh T
FLAFATE
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116) Which of the following options is used

for conecting flow chart onto a new page?

A) predefined processing
B) flow line
C) off-page connector

)

D) on-page connector

117) A linear LAN architecture in which transmissions from
various stations on the network are reproduced over the
length of the medium and are accepted by all other stations
on that network is known as

A) Mesh Topology
B) Bus Topology
C) Star Topology
D) Cell Topology

118) Which material is used to manufacture Computer
Chips?

A) Silver
B) Iron
C) Gold

)

D) Semiconductor

116) WAT =T &l 9T I8 I¥ S (o0 95 § § &9 91 faweq
EERIURER ISRV

117) 3| AT LAN STTReFa &l F4T Fgl SITaT § s
qoaH I IUsy (AT R9T & THILON T ATeqH & faeqe 1<

I Seae T STTAT € 3T 3] 39 Ao ah Y "R a7 Tl
TIET GT T AT AT g2

A) =T
B) Ter
C) "1
D) &t
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119) Which of the following option(s) is/are the variations of 119) fRwferfeaa & & T w1/& g it TAferears g/2?

the deque?
(i) Input restricted deque
(i) Output restricted deque

120) Start

setnum=20

display " enter the number"
read num

if ( remainder (num/2)=0)
display "yes"

else

display "no"

end

If the output of the above algorithm is "yes", it indicates that 7% IT{ TANTEH FT TROMH "yes" &, AT T ST FLaT &

num is

A) Even number

)
B) Amstrong number
C) Odd number

)

D) Prime number

(i) 3Ie wiaatea S

(ii) =IeqE Tfaated Sty
A) Fa (i)

B) & (ii)

C) (i) = (ii) Tt
)

D) T &l (i) dTTET (i)

120) Start

setnum=0

display " enter the number"
read num

if ( remainder (num/2)=0)
display "yes"

else

display "no"

end
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121) To get a boolean expression in the product of sum
form, from a given K-map

A) one should cover all the 1’s present and complement

the resulting expression

B) one should cover all the 0's present and complement

the resulting expression
C) don’t care conditions should not be present

D) don’t care conditions, if present, should be taken as
zero

122) Which of the following is the CORRECT extension for

PowerPoint?

A) .pot/ .potx

)
B) .ppt/ .pptx
C) .png / .pngx
)

D) .pps/ .ppsx

123) What will happen if you press ESC key during
PowerPoint slideshow?

A) End of slide show

)
B) Minimizes PowerPoint window
C) Displays first slide

)

D) Displays last slide

121) freT f&T 1T K-map &, T % O & Fiorde s
ITH F¥ o form

A) Tt TR 1's FT GiEAford FAT ATRY 37 Tt
FASTF T FIEATHE FIAT AR

B) &+t 3uftad 0's FT Afeaferd w1 AR i oot
FASTF T FIEATHE FIAT AR

C) Tie FT #T ord TEN ST gt A1

D) Sfe I% #if &7, 3R ITAT g, T LA o1 ST A1 w

122) qtawqize & forw Referied & o Fid 97 Jel TFead g2

A) .pot/ .potx
B) .ppt/ .pptx
C) .png / .pngx
D) .pps / .ppsx

123) Ff% &9 Tiavdize w12 o % 9 ESC &T' g4 g af
FAT ZRIT?

A) TATZT o FHTH T JATAT &
B) TaeiEz fEeT fafierest &1 ST 2
C) T EATES W= 2T
D) #ifm =T it grar &
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124) Stack is a 124) ¥ TF

A) First In Random Out structure A) T T YSH ASE AL E

B) Last In First Out structure B) HTEE T W ATSE FoFT &

C) First In First Out structure C) T 3 HE AT TFA &

D) Last in Last Out structure D) TITEE B M1 SAT3E AT g

125) Which of the following statements is TRUE with 125) T ¥ FL & A1 S(q & G99 § [HAffed § 9 i
respect to differences between stacks and queues? T FAT Tl 57

A) Queues use two ends of the structure but stacks use A) Y T %aﬂ‘ﬁ TR0 T ST FTd & ST &6 F T
only one A TR
y .
B) T I fefore foree T Araoasht Zrdl & Torg & Al A2H

T HLAAT F 1 [ T ITIN Fd @ Atehed F Fdaed Th
C) Stacks use two ends of the structure but queues use T ITANT FA &

only one

B) Queues require linked lists but stacks do not

D) ¥ i fefsFe fores i sraresha T EIefl € wTeq F FT TEl
D) Stacks require linked lists but queues do not

126) The PID of the init process is 126) Init AT FT PID F4T 87
A) 1 A) 1
B) 0 B) 0
C)3 C)3
D) 4 D) 4
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127) Which of the following statements is TRUE
about Footnotes and Endnotes in MS Word?

A) Both Footnotes and Endnotes print the comments at
the end of the page

B) Footnotes are used to mention comments about a text
at the end of the corresponding page, while Endnotes
are used to print the comments at the end of the
document

C) Both Footnotes and Endnotes print the comments at
the beginning of the page

D) Endnotes are used to mention comments about a text
at the end of the corresponding page, while Footnotes

are used to print the comments at the end of the
document

128) In a HTML page, if the background image is smaller
than the screen, what will happen?

A) It will be repeated

)

B) It will be stretched

C) It will get clipped
)

D) It will leave a blank space at the bottom of your page

129) In a Relational Data Model, which of the following
options describe how the data can be manipulated for
querying?

A) Objects
B) Constraints
C) Entities

)

D) Operations

127) MS aE # Fa1ed 3T Ueied % foru Fwforfea & & w9
qrAEIg?

A) ETHT BEATCH AT USHICH FHIH &l T9 F 49 & {fe 7d §
B) BEAISH HT ITANT TEATH TS F q H UTH SR F I H

FHCH T Iool@ HIA 6 (o107 [T STTAT &, STafeh TSHad HT
SUANT TFIHE % o § FHeq &l f¥e Fe & forg o smar
g

C) ﬁgﬁtﬁﬁ?@ﬁgﬁﬂtﬁaﬁw#{amﬁﬁz

D) TR AT S T 7 o 2 A

FHIH T IoAG T & [0 (AT FATAT &, T GaArad
STAN SFTHE % od | FHCH [ 92 F % fora Fa sar
g

128) T HTML =1 ®, T JshuTse S0 Shd & grel g, a1 47
grTr?

A) TE e ST

B) FE el ST

c) & T &1 s
DREERENCERIERECICIEUE A

129) T ReMe o1 Hico |, Mwforiaa Aeeat § & & a1
Ui FaT g 6 & v forw 2er ft stre-are 9 it o7 "t
2?7
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130) The primary characteristic of a key field is that it must 130) & Fiee’ %t YrorfH= fFeraar 78 gt F1ie 0 & a8

be

A) atext

B) duplicate

C) aname
)

D) unique

131) When a single entity is related to itself then the
relationship is termed as:

A) One-to-many

B) One-to-one

C) Many-to-many
)

D) Recursive

132)

Given below is an ER Diagram depicted in Chen’s notation.
Match it with the CORRECT relationship from the given
options.

Employes Name

Emplayes ID ‘

A) One to one

)
B) One to many
C) Many to many
)

D) Many to one

131) ST U Uahed UTeT Ta% | HaTad gIdl g af =9 ed &l

132) == Ao # ==d u& ER ag A= AT mar g fiwam
el § & 38 el da % q7T HA |

Emploves Name

Ermploves ID

‘has

A) 3T AT
B) a7 Z HAT
C) Ft Z A+At
D) AT T a9
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133) BCD digits in a Karnaugh map are restricted from: 133) T FET 79 § BCD i |8 d gid 2.
A) 0000 through 1100 A) 0000 7 1100 T

B) 0000 through 1010 B) 0000 & 1010 T

C) 1010 through 1110 C) 1010 ¥ 1110 %

D) 1010 through 1111 D) 1010 & 1111 7%

134) < HTML> 134) <HTML>

<HEAD> <HEAD>

< TITLE>HTML Sample< /TITLE> <TITLE> HTML Sample</ TITLE>

< /HEAD> </ HEAD>

< /HTML> </HTML>

In the above given HTML code segment you need to add ST T T HTML 7 3T#e § ST 389 SITer ST &
an image file in the next paragraph. Which code segment T ZHI ®TEA SIS 1 SATFAT &l T+ forg o7 & Fre

will you use for this? TATHE FT ITANT FHIA?
A) < P>
A) < P> < IMAGE height="100%" width="100%"
< IMAGE height="100%" width="100%" src="Sample.gif">
src="Sample.gif"> </P>
< /P> B) < A>
B) <A> < IMG height="100%" width="100%" src="Sample.gif">
< IMG height="100%" width="100%" src="Sample.gif"> <IA>
</A> C) <P>
C) <P> < IMG height="100%" width="100%" src="Sample.gif">
< IMG height="100%" width="100%" src="Sample.gif"> </P>
< /P> D) < P>
D) <P> < IMAGE="Sample.gif">
< IMAGE="Sample.gif"> </P>
< /P>
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135) What will be displayed in the browser page when the
following code is included?

< html>

< body>

< script type="text/javascript">

document.write("Hello World!")

< /script>

< /body>

< /html>

A) Hello World!

)
B) document.write("Hello World!")
C) "Hello World!"

)

D) Nothing will be displayed

136) On what technology does the Bluetooth work?

A) Microwave

)
B) Radio Frequency
C) Fibre optics

)

D) Electro-magnetic waves

137) How do you cancel the print jobs which are in queue

in windows?

A) Double click the printer icon and highlight the print job
you want to cancel > right click and select cancel

B) Once in the print queue, you cannot cancel the print
jobs
C) The printer must be restarted

D) Disconnect the printer cable

135) fRaferfeaa Fre st o7 arese oS # 7 92 fdid grm?

< html>

< body>

< script type="text/javascript">
document.write("Hello World!")
< /script>

< /body>

< /html>

137) fa=Ie # =L # v foie F1 & 3T 87 75 F3d 87

A) e strgehd 92 =4 f3F Y 3fY 39 9 F FT Irzarze
F¥ O o7 T AT ATEd &> W38 [ e ST Hieet F7
FIAT HL

B) U A% fife I # o ST W, o7 fife F1AT &1 77 7ol F¢
Tl &

C) T 1 g7 =g FLAT &R0

D) T et gar it Ao #T &
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138) Match the following CORRECTLY with respect to
databases:

1 Metuworked DEMS | A Data retrieved by unicue keys; relationshins expressed tiough
matthing keys

2. ROBM3 B. Store ohjects and operations o be performed on data; Applications
interactwith ohjectmanacers which wark through objectservers to gain
access o object stores

3. 0DBMS (. Looks ke several trees that share branches: children heave muttigle
narents and parenis have multiple children

4. ORDBMS 0. Prirnarly & telational structure with object-ofented faatures included

A)1-A2-B,3-C,4-D
B)1-C,2-B,3-A,4-D
C)1-D,2-B,3-C,4-A
D)1-C,2-A,3-B,4-D

139) Which device is usually not connected to the UPS
directly because of high power consumption?

A) KVM switch

)

B) External Mouse

C) USB video camera
)

D) Laser printer

138) ZaTadl & "oy H fReferfea 1 72t e 3

1.929% A srfadrr $Rr grT ToT Tt g d A
DBMS FISTT % ATEAH & <6 T
B. ST 9T FTATE Tl AT Aot H AT ATLLAH

> RDBMS FIRT FAT, TICAFerT sfeoe HAwH * &1
% forT stfssrere T % ATETH T F19 F )

C. STTETSAl &l ATAT FLA AT g US| 0l T8
3. ODBMS [famqr 8; aT & FS ATa-oar & sfiv #Arar-foar
& S HAW &

4. D. &7 =7 § U Rerema @1 o stiesrae
ORDBMS #frdze &t fadrerard erfarer &

A)1-A2-B,3-C,4-D
B)1-C,2-B,3-A,4-D
C)1-D,2-B,3-C,4-A
D)1-C,2-A,3-B,4-D

139) 37 TasTelt =aa o FTT AHG X IL HI 97 3T UPS &
HTE STIST Tl Srav 82
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140) In Unix, a process is a

A) tool

B) daemon

C) running program

)
)
)
)

D) stderr

141) What is the fullform of CPU?

A) Central Processing Unit

B) Central Performance Unit

C) Common Performance Unit

)
)
)
)

D) Common Processing Unit

142) Which one of the following form control types does
NOT use the < INPUT> element?

A) checkbox

)

B) password

C) multitext
)

D) text

143) Start
Read n
Initialize i to 1.
while i < n do:
Write i
Increment i
end while
Stop.

142) fRwferfaa & & 17 &1 6 Fegier T <INPUT> uferdz

T ITANT A5l FAT8?

A) checkbox

)

B) password

C) multitext
)

D) text

143) Start
Read n
Initialize i to 1.
while i < n do:
Write i
Increment i
end while
Stop.

Page510f58



Setld : 51357_10

Computer Operator 21-12-2018 Batch01

Which of the following options is CORRECT?

A) Read number n and print the integers counting up to
(n-1)

B) Read number n and print the integers counting up to i

C) Read number n and print the integers counting up to

(n+1)

D) Read number n and print the integers counting up to n

144) A LAN physical topology with end points on the
network converging at a common central switch (known as

hub) using point-to-point links is known as

A) Mesh topology
B) Star topology
C) Ring topology
D) Cell topology

145) Which of the following operation(s) is/are the basic
operation(s) of a queue?
(i) Enqueue

(i) Dequeue

Frerferfr # & e a7 e w22

A) T n TE A (n-1) 7 B 2 i A e w9
B) T n AT i | 7 R g A A e A
C) HEAT 1 TET A (n+1) 7 A g quitat A7 e T
D) #eT n T8 67 n A% A g it A e A

144) T LAN sitfae Srdrertstt s qead o wiee sfaw &g
qige-Z-Ti2e foih T ITANT F2d g0 U 917 di o= (o
2T FET 1T g) I /T 8 &l F97 Fgl Srar 82
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146) Whatis a IP Address?

A) ltis the Internet Protocol

B) Itis an internet posting address used to authenticate
the networks

C) Itis the unique number given to each device on the
network

D) Itis same as the URL

147) Random access storage device are also known as

A) Direct access storage device

B) Indirect access storage device
C) Sequential storage device
)

D) Tertiary storage device

148) Which of the following was the first counting tool?

A) Aba Zaba

B) Abacus

C) Punch Card
)

D) Stepped Reckoner

149) One Terabyte is approximately equal to

A) 1,000 kilobytes
B) 1,000 bytes

C) 1,000 megabytes
D) 1,000 gigabytes

146) |P T3H FAT 2T E?

A) TE T S

B)Tgsaﬁ'c" IR UH § TST8 q2eeh il TATO 3 & folT
EERIURERI I

C) TE e u¥ Feah fearea #i far v Ffre Faw g

D) Tg URL #9819 &

147) I8 T LR B & 7 e 9§ off ST Srar
2?7

A) STHCE THEE T e
B) ISTAYFE T E ST f3aTed
c) frafore = s

D) EREMEIE RECIES]

148) MHfered & | Fld TgaT TIHT STHTI IT?

149) TF XA AT fohd & aTaT Brar8?

A) 1,000 kilobytes
B) 1,000 bytes

C) 1,000 megabytes
D) 1,000 gigabytes
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150) Which of the following windows icon is clicked to

refresh a webpage in Internet Explorer?

151) What is the other name for crackers, the malicious

hackers who infilirate secure systems in order to steal

information or cause damage?

A) Black hats

)
B) Infliterer
C) Pirates
)

D) Digital rogues

152) ROM is an example of

A) Volatile memory

B) Fast memory

C) Non-Volatile memory
)

D) Outdated memory

153) Which memory represents the external storage
device?

A) Secondary Storage Device
B) Cache Memory

C) ROM

D) Primary Memory

150) Za¥re TFaA T # foreft oSt T Toher 3 o forg
FRaferfed & & 319 & 5T sread &1 s & smar 22

151) e, Fagoqur &8 & ST g=1 6l AT FLT AT At
TEA™ o 327 F & AU H IS FLd 8, AT e AT
q S ST 872
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154) Which one of the following is an example of a Web
Browser?

A) StarWorks
B) Opera

C) GoogleApps
D) Odilla

155) Which one of the following is an example of
Secondary storage device?

A) CD-ROM

B) Cache memory
C) ROM

D) RAM

156) In MS Word, you can display the "Find and Replace"

Dialog box by pressing which of the following Function
Keys?

A) F5

)

B) CTRL + F5

C) CTRL + F4
)

D) F4

154) fRaferfaa # & i a7 UF 39 J139 & IS0 82

155) MeTered & & Fd Hehe <l TS SaTed #T Ua 3aT8L0
27

A) CD-ROM

)
B) Cache memory
C) ROM

)

D) RAM

156) MS @ #, =9 7% # & fohe e FiS1 7 a9 "wEe

A) F5

)

B) CTRL + F5

C) CTRL + F4
)

D) F4
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157) For the given map find the minimum product of sums.

ab an a1 11 10
ed 00 1 = = 0
01 1 0 1 0
11 1 1 1 X
10 ] 0 1 0

A)(a+b+cia+z +d)b +a)
B) (a+&+dia+d +o)E +a
C)la+b+dila+d +cim +&)
D) (a +b+cia+7 +d)a +&)

158) In MS-Excel, by default the text is aligned to

A) Center

)

B) Right

C) Justified
)

D) Left

159) Which of the following is a non-volatile computer
storage device containing magnetic disks or platters
rotating at high speed?

A) Pen Drive

)
B) Random Access Memory
C) Compact Disk

)

D) Hard Disk Drive

157) faw 70 A= # orT AaH T FT [OARA Gl ?

ab oo 01 11 10
ed 00 1 = = 0
o1 1 0 1 0
11 1 1 1 X
10 0 0 1 1]

A) (g +b+o)a+7 +d)b +a)
B) (a+b+d)a+d +oif +a
C)la+h+dia+d +o)a +4)
D) (a +b +e)a +7 +d)@ +&)

158) MS-rer ¥, Rewter =y & 2oz &y ey (srermee) gran

159) MEferfad # & 19 UF TF-ae13a Fge? TS
Rarew 2 o sy fq & gt bt 2wk a1 wrd wisgE 2rdt
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160)

160)
[$ BBS oo |@ = A 4 Z | [f RS o-o- @ = £ 8 3|0
1 2 3 4 1 2 3 4

Look at the image above. There are 4 icons marked 1, 2,3  IU%Ih THS & 36| THH 1, 2, 3 3% 4 § ==2AT 4 =74 &
and 4.

¥a {1 f{U U FiEy w7 <@
Now look at the column below :
Names Names
whrutht =hruth
Celina iZelna
Arita Anita

Which icon should you click on for arranging the names as
given above?

ERRR R e e e A G R E A R E e EE A R B E

FIAT ATRT?
A) Icon Number 1 A) ST HEAT 1
B) Icon Number 2 B) e et 2
C) Icon Number 4 C) e AT 4
D) lcon Number 3 D) e HeqT 3
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Question Paper No: 5135710

Answer Key

B &1 D 121
A 82 A 122
D 83 C 123
C 84 D 124
C 8 B 125
D 86 B 126
D 87 C 127
C 8 D 128
A 89 D 129
A 9 D 130
D 91 D 131
C 92 D 132
B 93 C 133
C 94 B 134
B 95 D 135
A 9% C 136
A 97 A 137
D 98 C 138
B 99 C 139
D 100 C 140
A 101 D 141
B 102 B 142
C 103 D 143
A 104 A 144
B 105 B 145
C 106 C 146
A 107 D 147
B 108 C 148
D 109 D 149
B 110 B 150
D 111 D 151
B 112 B 152
D 113 A 153
D 114 C 154
D 115 D 155
A 116 C 156
D 117 B 157
A 118 D 158
B 119 C 159
D 120 A 160

OO0 r»rwWwr>QprpTUOm>rOOQO@P>Q>rQ00>0W>rOQO®F>O00F»>T>»>0@
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